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c
Case _ 0.5 “
Hm 1 0i(L/s) | Qo(Lrs) | /AR ™) ey
11 190 230 00 048 33
12 166] 198 00 0.44 41 x
13 115] 151 00 041 5.1
21 187 63 00 0.13 56.1
22 160 58 00 0.13 57.0 °
23 136 53 00 0.13 585
31 185 63 52 0.13 555
32 159 57 48 0.13 58.1 °
33 135 49 45 0.02 67.0

A= 0.007854 m?

Q
Q="9 Ag 2gn® Li As ng R Yo [ @
fe (E) +Z ( R ﬁ) (W) +Z(fbﬂ fb,i) (K) +fg+1
Q: (m¥/s),Ag: (0.007845m*=Ae=A1),9: (9.8m/s?) ,H: m),
fe: ,n: ,Ri: (=D/4,D=0.1m),Li: (m),fbl,fb2:
@ a +1 Q
Q=CAg(2gH)°-> a =1/C?-1
a fe fe=0.5 L L=12.2
¢ 0.1 n=0.01 =2gn2/R¥3 L/R(R=D/4,D=0.1m)=3.3 90°
0.4 a=4.2
a o =53
3.0
a
0.85 A
H=62m, D=0.3m(A=0.07m?) 0.8m%/s @ 0.3m
L=1km d=0.5mm 0.5% o C=Q/(A(2gH)°-*)=0.32,a =8.5
fe fe=0.5 L L=1000 ¢ 0.3
n=0.012 =2gn2/R¥3 L/R(R=D/4,0=0.3m)=89.2 d=0.5mm  0.5%
)» o =39.2 C=1/(Z a +1)°°=0.074
Qi Qi=CA(2gH)°°=0.18m*/s Qo  Q0=0.85Qi=0.155m%/s
0.5% 24,000 m*/s
A P=APw+APs A Pw=A w V2/2g (LID)y w A Ps=A s V2/2g (L/D)y w 2)
A s=10-1.844 (C0.2644 Fy-0.3097 (d D)0.22222
A Pw: , A wl , A\ Ps: , A st
A w Vi (m/s),L: (m),D Ko (=9.8m/s2),
Y s (=2.6),C: %),y w: (=1),Fr: ,d: (mm)
1) 64 pp55,56
305-8516 1-6 () TEL029-879-0867 miyawaki@pwri.go.jp
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